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2019(0dd)

. 1 Sem - I/I1
Time : 1——Hrs. - -
2 Applied Science (Chem.)
Full Marks : 35

Pass Marks : 14
Answer only 10 questions from Group A, each question
carries 1 marks.
Ju-A¥ TH Ul b SR <, AP U BT 91 1352 |
Answer all Three questions from Group B, each question

carries 4 marks.

Ju-B 9 9 g & SR <, UAD U &1 9H 430 2 |

Answer all Two questions from Group C, each question

carries 6.5 marks.

Fu-C A 3 vl & SR <, UAD U &1 9 6.5 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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Explain :

(a) Acid value of lubricant
(b) Flash point

(b) Pour point

AT B

(31) Figd & 3Fd D A
@) wetw fdg

(@) Uik fdg

Write down reaction taking place in blast furnace
in extraction of iron from red hematite ore.
Explain:

(a) Annealing

(b) Quenching of steel 6.5

ITRA & fswdor 7 qrq wedt A afdfean
P ford |

T PR —

(31) arurgeirer

(@) sEura &1 2Ma+

NT12009

(i)

(iii)

(1i1)

(iv)

3 1602103/1601203/P1602103

AT & H9199 ¥ feaer yahr fear

ST 2 |

(31) Ysgs wAECaEMY
(@) ddrec AT
(7)) <=

(@) ®Ig &

A good refractory should possess.

(a) Low fusion point

(b) High porosity

(¢) Uniform coefficient of thermal
expansion

(d) None

ST IqNyD T Far 3yef 2
(31) PH eI d

(9) S=a Jguya

(@ |uwul a9 faErR one
(q) @1 &

The S in buna -S refers to
(a) Sulpher

(b) Sodium

(c) Styrene

(d) None
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OR (3121an) ~vi) Freifead ¥ wRAEEER B9 2 |

(31) s13 Jitacsa ddc

Explain difference between metallic and

electrolytic conduction. (@) da
KK
€Tq, dTcld 3R Igd IueIcy ardd A 3R (]) wRigarSS
fordd |
(vii)  Which of the following is not glyceride
3. What is refractory substance? What are the (a) Fat
characteristics of good refractory? (b) Oil
4 (c) Soap
IHTENYT A1 IT YfaRles | Sy dar |§9sid (d) None
2 ? 38 SWl yRiRigs & qe fagiwand ¢
22 i) fr=ifafaa ¥ Ravgs o9 18 2
(31) aar
OR (3121dT) (@) ad
(W) \rga
Define: () ®I1g TEI
(a) Sherardizing
(b) Colorizing (viii)  Which of the following is ester linkage?
(a) Terylene
gRATRT B — (b) Nylon
(@1) AwsTiT (c) Bakelite
(@) rfaRr (d) PUC
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